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Time : 3 Hours Max. Marks : 180 | AHT : 3 uf& & nid : 180

Instructions for Candidates: Steeet wEt gurfest:

1. Thisexam isin two parts. . fegifimr e 3ar feg 3

2. Part-Iisrelated to Mental Ability Test which . Fa1- ufgsr wafAx GersT &% A9 J,
consists of 90 questions. AR fe 9 0 yrs 75|

3. Part II relates to Scholastic Aptitude Test . g1 - v f&u fefimit € Gars o Faus
which consists of 90 questions relating to fors TaATe s fefimi & 90 YyFs 76
three subjects listed below:
(i) Science (i) wfen
(i) Mathematics (i) afss
(iii) Social Studies (iii) FHfre fRfemor

Each question carries one mark. All
questions are compulsory.

You have been provided with an Answer
Sheet (OMR) for this question paper. Darken
the correct option of each question in the
Answer Sheet (OMR) with black/blue ball
pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in the test.

Do not use white fluid on OMR (Answer
Sheet).

Half an hour extra should be given to
Physically Handicapped candidates only.
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ROUGH WORK / 9T &H




MENTAL ABILITY

Direction (question no 1-8)
There is a number/Letter series following a
pattern. One place is left blank. Find out the
correct answer from options:

1.

22,21,23,22,24.23......

(1) 22 ) 24
(3) 25 4) 26
5.2,4.8,4.4,4.......

(1) 3 @) 3.5
(3) 3.6 4) 3.3
6,11,21,36,56,.....

(1) 42 @2) 51
(3) 8l 4) 91
0,7,26,63,124......

(1) 215 ) 125
(3) 216 4) 217
CMM, EOO, GQQ, ,KUU
(1) GRR (2) GSS
(3) 1SS @) ITT
SCD, TEF, UGH, WKL
(1) CMN (2) UII
(3) VI 4) UT
PTXL, OSWK,NRVJ, ?,LPTH
(1) MQVI (2) MQUK
(3) NQUI (4) MQUI
YFD, VJA, SNX, PRU, ?

(1) MXS (2) MVR
(3) NWS (4) NWR

Direction (question no 9-13)
Find the wrong/odd number or item from the

given series / numbers:

9. 8,27,64,100,125,216,343
(n 27 (2) 100
(3) 125 (4) 343

10.  22,33,66,99,121,279, 594
(1) 33 2) 121
(3) 279 (4) 594

11. 125,127,130,135,142,153,165
(1) 130 (2) 142
(3) 153 4) 165

(1)

HSAR GarsT

fsgem (Yyms 399 1-8)
3, fare nigimiygt fe'e o=t Agu I 1fer Hgu &
famrs fe'g Tufent dfentt &3t § yar a9 w3 At

1.

EECEIETACR
22,21,83,22,24,23.......
1y 22 (2) 24
(3) 25 4) 26
52,48,44,4.....
(1) 3 (2) 3.5
(3) 3.6 4) 3.3
6,11,21,36,56,.....
(1) 42 (2) 51
(3) 81 4) 91
0,7,26,63,124.......
(1) 215 (2) 125
(3) 216 (4) 217
CMM, EOO, GQQ, ,KUU
(1) GRR (2) GSS
(3) ISS (4) ITT
SCD, TEF, UGH, WKL
(1) CMN (2) Ul
(3) VI (4) 1T
PTXL,OSWK, NRVJ,?, LPTH
(1) MQVI (2) MQUK
(3) NQUI (4) MQUI
YFD, VJA, SNX, PRU, ?
(1) MXS (2) MVR
(3) NWS (4) NWR

fsgem (Yyrs 389 9-13)
ot fe3 ymst fo'9 I%3/249 vid A UT g&:

9

10.

11.

8,27, 64,100, 125,216,343
(1) 27 (2)
(3) 125 4)

100
343

22,33,66,99,121,279,594

(1) 33 @) 121
(3) 279 4) 594
125,127,130,135,142,153,165

(1) 130 Q) 142
(3) 153 @) 165



12

F3:

PQXZ, CQBN, ABDF, PRMN
(1) PQXZ (2) CQBN
(3) ABDF (4) PRMN

Teacher, Principal, Student, Lecturer
(1) Teacher (2) Principal
(3) Student (4) Lecturer

Direction (question no 14-16)
According to the specific pattern, fill the blank
spaces of letter series in the following questions:

14.

15.

16.

1§77

18.

9.

20.

21

_aa _ba bb _ab aab

(1) aaabb (2) babab
(3) bbaab (4) bbbaa
_stt_tt tts
(1) tsts (2) ttst
(3) sstt (4) tsst
_furt s usrtu_

(1) rtusru (2) rsutrr
(3) rsurtr (4) rsurts

Peacock is related to India in the same way
Bearisrelated to:

(1) Australia (2) America

(3) Russia (4) England

BCFG: HILM :: NORQ:?

(I) TXWU (2) TXUW -
(3) TUXW (4) TVWX

Choose the word which is different from
the other words in the group.

(1) zebra (2) lion

(3) tiger (4) horse

Choose the number which is different from
the other number in the group.

(1) 119 (2) 126

(3) 147 (4) 153

If in a certain language, 'GAMBLE' is
coded as 'FBLCKF', how is '"FLOWER'
coded in that code?
(1) GKPVFQ
(3) GMPVDS

(2) EMNXDS
(4) HNQYGT

(2)

12.

13,

PQXZ. CQBN, ABDF, PRMN

(1) PQXZ (2) CQBN
(3) ABDF (4) PRMN
niftrmma, fifFtus, fefenrgd!, Sagag
(1) nitmu (2) firhus
(3) fefonmagt (4) BP9

foserm (yrs 399 14-16)

I5| 393§ UTT 96 BT 01X § 39 T 9E A9

14.

15

16.

17.

18.

19.

20.

21

_aa ba bb_ab aab

(1) auabb (2) babab
(3) bbaab (4) bbbaa
_stt_tt tts

(1) tsis (2) ttst
(3) sstt (4) tsst
_tu_rt s usrtu_

(1) rtusru (2) rsutrr
(3) rsurtr (4) rsurts

fHe He TT AU g3 &5 3, BRI Ig gm &
Hey faR 5% 3

(1) »TAEM (2) e
(3) A 4) fEa=s
BCFG: HILM :: NORQ:?

(I) TXWU (2) TXUW
(3) TUXW (4) TVWX

87 HE= U # d9U € Tl 359 T Sy
el

(1) 7= 2) B9

(3) =37 4) usr

87 =9 9& A I9U © It HuEt 3 Syt
J<|
(1)
(3)

far AT €9 'GAMBLE' § 'FBLCKF'
f&ftmr #ter 3, @A g &9 'FLOWER'$

2) 126
@) 153

119
147

ot ffar e 39
(1) GKPVFQ (2) EMNXDS
(3) GMPVDS (4) HNQYGT




22;

23.

24.

a5,

26.

27

28.

29.

In certain code 'FROZEN' is written as
'OFAPSG'. Then how would'MOLTEN' be
written in that code?
(1) OFPOMN
(3) OFUMPN

(2) OFSMPN
(4) OFUNPM

If HEAVY is coded as 74158 then what is
the code for LOAD?
(1) 4163
(3) 6754

() 7234
4) 9076

If Black' means 'pink’, 'pink' means 'blue',
"blue' means 'white', 'white' mean
"yellow", yellow' means 'red' and 'red'
means 'brown', then what is the colour of

clear sky?
(1) Brown (2) Red
(3) Blue (4) White

Which one of the following codes for
"that" and "interesting". "Book is thick",
represents "po si re", "bag is heavy"
represents "na ti re", "book interesting"
indicates "si ka" and "that bag" indicates
"deti". :
(1) deka
(3) rede

(2) side
(4) nare

Which of the following words cannot be
formed by using the letters of the word
"EDUCATIONAL"
(1) NATIONAL
(3) DEAN

(2) NEAT
(4) LION

Which of the following word can be
formed by using the letters of the word
'"WELCOME"?
(1) CORN
(3) LOCK

(2) LOW
(4) WET

Arrange the given words in the sequence in
which they occur in the dictionary.

i). Fabric ii).Face iii). Failure
iv). Faculty

(1) iv,ii,1,1ii (2) 1ii,iv,1i,1
(3) iv,iii,i,ii (4) 1,11,1v,111

Which word comes first in the dictionary
order?

(1) carrom
(3) carrier

(2) cramming
(4) cartoon

(3)

22.

23

24,

e

26.

27.

28.

29.

fsr gmT &9 'FROZEN' § 'OFAPSG'
f@fmr Ater I, 81 35T f@9 'MOLTEN' &
&t et AT 39 )
(1) OFPOMN
(3) OFUMPN

(2) OFSMPN
(4) OFUNPM

Hod HEAVY ¥ d3 74158 3 3F LOAD &7
IS AT J?

(1) 4163
(3) 6754

(2) 7234
4) 9076

‘g, 3t ATE WTAHTS BT 3T o 7
(1) g7 2 5
(3) &l (4) foer

J5 &3 yms &9 "that" 3 "interesting"e"
a3 of J "Book is thick", "po si re"
TIAQT™ I, "bag is heavy", "na ti re"
TIRET J, "book interesting", "si ka"
"thatbag", "deti"d TIAET I |

3
]

il

(1) deka (2) side
(3) rede (4) nare
AJt mEE g& | €3 o mue
"EDUCATIONAL" 3* &t gfenr|
(1) NATIONAL (2) NEAT
(3) DEAN (4) LION

AdT mge g& 7 €3 o mg€ 'WELCOME!
3 gfenr T
(1) CORN
(3) LOCK

(2) LOW
(4) WET

™3 ASt gH Tt 9= a9 |

i). Fabric ii).Face 1iii). Failure

iv). Faculty

(1) iv,ii. i, iii Q) iii, iv,ii, i

(3) v, iii, i, ii (4) i,ii,iv, ii

Jot few HEet § HET 9F gH MGHT J96 3
fagzr mae ufa® $99 3 mreqr?

(1) carrom (2) cramming

carrier

3

(4) cartoon



30.

3L

¥4

k< %

34.

Which of the following diagram correctly
illustrates the relation ship among the
classes: Tennis players, Cricket players,

Students.
0@ e

o () @ @D

Which of the following diagram correctly
illustrates the relation ship among the
classes Carrot, Food, Vegetables.

() @)
3) @ *) @DQ

Today is Monday. After 61 days, it will be:
(1) Wednesday (2) Saturday
(3) Tuesday (4) Thursday

Two positions of a dice are shown below.
Which number will appear on the face
opposite to the face with the number 5?

3 3
1 . 2 ;
(1) 1 2) 3
3) s 4) 6

From the positions of a cube shown below,
Which letter will be on the face opposite to
face with'A"?

A A D D
FIBc B8] cl®clF
() D (2) F
3 C (4) E

(4)

30.

31.

32.

53

34.

fuzdt, fgae fusat w3 fefenragnr
fegars rdu g TeABET 3

NESI
Je19IG)

w3 Aet fegars A¥T g TeA8er J:

(D @ )
3) ij (4) GDO

Wi AHEg T »wiF 3 61 fes ame fxozr
g IS

(1) ¥o=9 (2) maled
(3) HI®=g (4) o<
3TeR “nit € AfaShort § TaATfenr famr 3
Ur © €% niBz Trdt Bt 979 TR:
il 3

L 2 | @
1 1 2 3
(3) 5 “4) 6

WE T 3B Tt Y-y AfasSht fedinrt
IEMT T3 1'A' © 8% mBT o1& niug g9

A A D D

F B/ C E C E C F
(1) D @) F
3) C 4) E




Direction (question no 35-39)

35.

36.

3L

38.

39,

40.

41.

12 y
Marathi 1 > English

6 /i
7 |2
Hindi
8

Telugu

How many persons can speak English and
Hindi both languages only?

(1) 5 2) 8

(3] 7 (4) 18

How many persons can speak Marathi and
Telugu both?

(1) 10 2) 6

3) 3 4 5

How many persons can speak only
English?

(1 9 2) 12

3) 7 4 2

How many persons can speak English,
Hindi and Telugu ? :

(1) 8 &) 2

3) 7 4) 4

How many persons can speak all the
languages?
() 7
(3) 9

(2) 8
(4) None

A man walks 2 km towards North. Then he
turns to East and walks 10 km. After this he
turns to North and walks 3 km. Again he
turns towards East and walks 2 km. How
far is he from the starting point?

(1) 10km (2) 11km

(3) 12km (4) 13km

A man walks 5 km toward south and then
turns to the right. After walking 3 km he
turns to the left and walks 5 km. Now in
which direction is he from the starting
place?

(1) West

(3) North-East

(2) South
(4) South-West

(5)

fsoem (YFs 399 35-39)

35.

36.

¥

38.

39.

40.

41.

12 )
Marathi 3 — English

6 : ;
i“la
/. Hindi
8

Telugu

FTHE §% T57
(1 5
3) 7

%€ T |

2) 8
@) 18

() 10 (2) 6
(3) 3 “4) 5
fad formast firge viarow! 3T 8% J67
1 9 (2) 12
3 7 4) 2

q%C I57
(1) 8
(3) 7

2) 2
(4) 4

foia fenasSt Ardint 3T 3¢ 767
(1) "7 (2) 8
3 9 (4) I B

¥ et 2km €39 femr o e 3, feg
89 yas ferr f&g Wz 727 3 10km BT 3,
feg 89 €39 ferm <% U™ T 3 3km T&HT
3, feg 8o ygw fem & H3E T 3 2km
deer Qg T e I et gt 3
I
(1)
(3)

fEg vt 5km TyE femr &9 Afer I i3
feg ¥Y ¥ Ao 913km 9% 3 amie B9
MR ¥Y I AET I 3 Skm AeT J1 9F 8T

10km
12km

) 1lkm
(4) 13km

g widfea fifg 3 faadt femr R 37
(1) d8H (2) TuE
(3) €39-yg= (4) Tus-UsH



42. If'+'means'-','-'means'x','+' means'+', 'x'

means '+' then what is the value of 15—

3+10x5+5?
(1) 22 2) 52
(3) 48 (4) 47

43. IfPmeans '+, Q means'-', R means 'x' and

S means '+, then the value of the following
expression? 40 S4R2P 19Q 26
(1) 21 ) 16
(3) 23 4) 13

Direction (question no 44-48)

National School of Games has announced the

Summer Session Festival of Games to be held

every day from Monday to Saturday, Following

games are to be played.

(1) Kho Kho, (2) Football, (3) badminton,

(4) tennis, (5) cricket, (6) swimming,

All these games are to be held once a week and

the schedule is as under.

1. Kho Khois to be played a day before cricket

2. Badminton cannot be played on Tuesday.

3. Football should be played next day after
swimming.

4. Tennis should be played on Friday only and
football should not be played a day before it.

5. Cricket should not be played on the last day.

44.  Onwhich day football is played?

(1) Monday (2) Tuesday

(3) Thursday (4) Saturday

45. Khokhoisplayed on which day?
(1) Monday (2) Tuesday
(3) Thursday (4) Wednesday
46  Which game is played on Friday?
(1) Tennis (2) football
(3) badminton (4) cricket
47. Which game is played just after tennis?
(1) khokho (2) football
(3) badminton (4) cricket
48  cricketisplayed on which day?

(1) Monday
(3) Thursday

(2) Tuesday
(4) Wednesday

(6)

42. HAG'+ T HI®T ', '~ T HIBY 'x, '+ &
H3®Y '+, 'x' T H3BF + < 3T15-3+10x5+5
T HS o J=dIm?
(1 22 2) 52
(3) 4% 4) 47

43. ¥EJ P T HIBI '+, Q T HIBY -, R &
H3ST ' W3 ST HIHT '+, I 3T 40 S4R2P
19Q26 TTHG ot I?
(1) 21 ) 16
3) 23 (4) 13

fsoerm (UFs 389 44-48)

SHES HAS 1 THA & AHES 3 Bdled 3% 79
fas J= @@ ¥3T ¥ AHT HiTs SRS o s
ST T | TaH it BT B ot 7 IFort T

(1) 88 (2) 279 (3) Fafites (4) 2fom (5) e

(6) 3ot
feg Aot w3t ge3 feg f¥a =9 et a5 ni2
FIAIIH I& B8 WEATT
(1) u-ufgue 3 85 fos ufowt G5t At T
(2) Hawe § #sfies &t 83t 77 Haret |
(3) TUD It T NS few vfsnm Frear |
4) <2for fi9e gageg § ¥fsnr wEar w3
ATETT |
(5) nradt fow fgae adt afsnr Ardar |
44. g A fos it A 97
(1) m=g (2) Haw=rg
(3) staeg 4) matEg
45. 49—y for1 fos 83t Aiet 37
(1) e (2) VI
(3) FI=T (4) du=9
46 HaIT 3 faost us uSt AR 7
(1) efsA (2) gcas
(3) ==fifes 4) fa=e
47. 2R 3 ame faost o3 ot At 39
() ¥-§ (2) gcT®
(3) F=fifes 4) fqae
48  faae fom fes 93t et 39
(1) mreg (2) Haweg
(3) 3= (4) dgu=g



Direction (question no 49-52)

Five girls are sitting on a bench to be
photographed. Seema is to the left of Rani and to
the right of Bindu. Mary is to the right of Rani.
Reeta is between Rani and Mary.

49.

50.

51.

52,

53.

54.

35.

56

57.

Who is sitting immediate right to Reeta ?
(1) Bindu (2) Rani
(3) Mary (4) Seema

Who is in the middle of the photograph?

(1) Bindu (2) Rani

(3) Reeta (4) Seema

Who is second from the right?

(1) Mary (2) Rani

(3) Reeta (4) Bindu

Who is second from the left in photograph?
(1) Reeta (2) Mary

(3) Bindu (4) Seema

Ashish is fourteenth from the right end in
row of 30 boys. What is his position from
the leftend?
(1) 14th
(3) 16th

(2) 15th
(4) 17th

How many 4's are there preceded by 7 but
not followed by 3?
593217426974613287413832567
4395820187463
(1) 2

(3) 4

@) 3
4 5

Introducing a boy, a girl said, "He is the son
of the daughter of the father of my uncle."
How is the boy related to the girl?

(1) Brother (2) Nephew

(3) Uncle (4) Son-in-law
How many times do the hands of a clock
coincide inaday?

(1) 20 2) 21

3 22 (4) 24

The angle between the minute hand and the
hour hand of a clock when the time is 4:20,
1s:

(1) o°
3) 3°

(2) 10°
@) 20°

(7)

fsgem (yms 399 49-52)

UH IZit e fuge Bz o2t 89 3 381t a5 |
HIHT, Tt e da w3 e e R uR 31 At ot @
HH UH 31313, I3 »i2 Bt @ fesag 38t T

49.

50.

5L

52.

23

54.

33,

56

57.

37T ISI AN UTH & goT J7
(1) fie (2) Tt
(3) Hat (4) HH
e fegaade 37 \
(1) fidg (2) It
(3) dizr (4) Hr
A UA T g 37

(1) Hat (2) I
3) d= 4) fag
e RevauR I g dE J7

(1) dzr (2) At
3) fiée (4) Fr
WHE 30 Hfsnt &t a9 @9 An fAg 3

ge< AE'S ‘I I °Y fA9 3 GOt Afgst ot
J?

(1) 14zt @) 15%

(3) 167 4) 173

4 3 ufgst fd3 7 985 ug g &9 3 adt
37

5932174269746132874138325674
395820187463
(1 2
G 4

@3
(G

fFa s3a Tt Ae-ugE q9fonr fFa a3t
3 faor, “feong g9 ¢ fusr St dt v Us9
317 H3 T et am ot famsT 97

(1) 3T (2) s

(3) o (4) A<TEL

fex w3t et gEiit fex fes fu fdat =g
fHeEiT I57

(1) 20 ) 21

3) 22 (4) 24

A 4:20 3wt S uifenrt T BE w3
fiet =5 pet ffg sforr = Uz a9 |

(D 0% 2 10°

(3) 5° 4) 20°



58.

89,

60.

61.

It was Sunday on Jan 1, 2006. What was the

dayofJan1,2010?
(1) Sunday (2) Saturday
(3) Friday (4) Wednesday

If you write down all the numbers from 1 to
100, then how many times do you write 3?
(1) 11 (2) 18

(3) 20 (4) 21

A man wears socks of two colours - Black
and brown. He has altogether 20 black
socks and 20 brown socks in a drawer.
Supposing he has to take out the socks in
the dark, how many must he take out to be
sure that he has a matching pair ?

(1 3 2) 20

(3) 39 (4) 40

Today is Varun's birthday. One year before
today he will be twice as old as he was 12
years ago. How old is Varun today ?

(1) 20years (2) 22years

(3) 25years (4) 27 years

Direction (question no 62-70)

Find the missing number:
62.
8 6 7
9 |13 | 11
3 7 2
(1 S (2) 6
3) 7 4 8
63.
NANIAN
T 3
() 2 (2) 6
(3) 4 “4 8
64.
27Y54 “2\(84 ?\(42
9 . 14 7
(1) 24 (2) 21
(3) 36 @) 12

8

58.

59.

60.

61.

I #&SIT, 2006 § Wi3TT I 1 A,
2010 & =5 St At?
(1) w»EEg
(3) Ho9ed

(2) matEg
(4) du=d

Hag 3T 1 3 100 3 At Aftmret §

- fee I 33T 3 & it eg faue 32

(1) 11
(3) 20

2) 18
@) 21

& niedt € Jar €t got u@er
I-a% 3 I BH % i vaw 9 o
20 A% ff FITE »iF 20 Fit gIE IS |
He &€ fa 8r & 769 S gorgt deami
I%, 3 3R 3 feg vt g8z ®et fa €R
3w fea 1w wieT AT J, BA & fdat garat
e Uzdint?

(1 3 (2) 20

(3) 3v (4) 40

WH TIT T AsHfes T niF 3 fEa
ufge C7 &t 81T 12 A® ufost &8 darst
J =T | TgE ©f 8Ha win faat 92

(1) 207 (2) 228

(3) 25A® (4) 27°®

fs9em (Yyrs 399 62-70)
J& €3 fg39i S 0’ € mEms 3 ot niredr?

62.

63.

64.

3 6 7

9 13 11

31 7|2
(H 35 (2) 6
3) 7 4) 8
4/ 123 \9 9/ 232 \?

1 4

(1) 2 2) 6
(3) 4 4) 8

@) 21
@) 12




65.

66.

67

68.

69.

A0

11 22 121
3 28 (4 51 57 |3 6 7 48

5 20 25
(1) 176 () 115 .
(3) 157 (4) 131
R 8 K
&
(1) 60 (2) 62
(3) 64 (4) 66

0 3 8

15 24 35

48 ? . 80
(1) o4 (2) 63
(3) 66 (4) 84

(@) ®) ©

(1) 22 Q) 25
(3) 24 4) 23
9 8 6 T2

(1) 158 (2) 167
(3) 168 4) 170

(9)

65.

66.

67.

- 68.

69.

70.

121

?

5 20 25
() 176 (2) 115
(3) 157 (4) 131
XD @D D

& &
Y R &S
(1) 60 (2) 62
(3) o4 (4) 66

0 3 8

15 24 35

48 ? 80
(1) o4 (2) 63
(3) 66 (4) 84
5 4 7 8
6 | 94l 5 10
3 7 2 2
(n 1 (2) 4
(3) 3 4) 6

AnYAR

(a) (®) -
(1) 22 (2) 25

(3) 24 @) 23

! 8 6 7T 9 6
7 (a) 6 3 (b) 4 5 (c) 4

(1) 158 @) 167
(3) 168 4) 170




Direction (question no 71-74)
Choose the correct mirror image of the given
figure (X) from amongst the four alternatives.

EiEINNE
® O @ 6 @
. AZIN I
w0 o 0 6
7 SIS
0)|321€0|G2|Ge

(x) (1) @ 0 4)
Direction (question no 75-78)
In each of the following questions, choose the
water image of the Fig. (X) from amongst the

four alternatives (i) (ii), (iii) and (iv) given along
withit.

A /) © © P
A
t) CEYEVEY)

x) (M @ ©) @

OOReR

(x) (M 2 (€)) “4)

T

| M |[«O O« » O

)OO O« |IIs [~ (M=
(x) M @ ©) )

fogenm (Yyas 399 71-74)
99 fegwut &9 &3 dw fosg (X) &t mat

7 [AIRISIS

71. @

©» O 6 @

SHZINIZIN
) m @ 6 @
N D Sl
(x) (1) ) 3) “4)
HERHEE

(x) (0 @ 6 @
fsgem (yms 399 75-78)
() (i), (iii) »3 (iv) T 939 (X) & Ut <t
IASIg et 9E A9 |

AN ) ) © P
A
b YD)

(x) Q) 2 3) 4

G OReR

(x) ) @ 3) “

71.

::1. c M |« O O« [» O
)| Q11 S 11 1
x) M @ ©) )




79.

80.

A A AN Ad A
(X LXIXXXEX

(x) (1) ) 3) ()

Count the number of triangles and squares
in the given figure.

(D)
(2)
3)
(4)

28 triangles, 3 squares
24 triangles, 5 squares
28 triangles, 5 squares
24 triangles, 3 squares

Count the number of rectangles in the
given figure.

17

e

(1) 8
(3) 18

2) 17
4) 20

Direction (question no 81-84)

Choose the figure which is different from the

others?
81.

X

=4

%

D

(A) (B) © (D)
1 A (2) B
3) C 4 D
82.
gojonQOe| (00
coe ODe o0 |eO
(A) (B) (©) (D)
(1) A (2) B
3) C (4) D

(11)

78.

vlvtetosed

(x) (1) @ 3) 4

79. f&3 39 &9 f3aa i3 =gar <t fa=st

farzi

(1) 28f3az,3=gar

(2) 24f33zF, 5%

(3) 28f3aE, 5TFar

(4) 24f33z,3=9a
80. fo3 fu3g o nrfes forsst Tr |

oo

B
(1 8 () 17
(3) 18 4) 20

fsgem (YAs 399 81-84)
8o 39 ge A efii 3 Suar J=°

81.

X

1

%

D

(A) (B) ©) (D)
(1) A ) B
3) C 4 D
82.
oojjoO||O0e| 0O
oe ODe/jo &0
(A) (B) (©) (D)
1 A () B
3) C 4) D




83.

84.

INIRlicaiey,
(A) (B) ©) (D)
1 A ) B
3) C 4) D
(A) (B) (©) D)
(1) A 2) B
3) C 4) D

Direction (question no 85-88)
Find out which of the figure (a), (b), (c), (d) can
be formed from the pieces given in fig. (X).

85.
(x) (a) (b) (c) (d)
(1) a ) b
3) d “4) c
86.
ol:] 5
[
(x) (a) (b) (0) (d)
(1) a 2 b
3) d 4) c
87.
| el
5
(%) (a) (b) (c) (d)
(1) a (2) b
3) d 4) c

(12)

83.
AEY| (B8 ek
P
(A) (B) (C) (D)
(1 A (2) B
3) C (4) D
84.
(A) (B) (© (D)
(1 A 2 B
3) ¢ 4) D

fsgem (yae 399 85-88)
U9 fa 39 (X) oo €3 zafomt 3 fagsr
939 (a),(b). (c), (d) T=fenT AT AT T |

85. ) )
U AN
(x) (a) (b) (c) (d)
1) a @ b
3) d 4) c
86. )
OD l =
‘ (o
N d
(x) (a) (b) (c) (d)
1) a @ b
(3) d 4) c
87.
| 7
R XK
(x) (a) (b) (c) (d)
(1) a @) b
3) d “4) ¢




88.

D Q°
o (DA D [T
D° 0| |90
(x) (a) (b) (c) (d)
(1) a 2) b
3) d @) ¢

Direction (Question No. 89-90)

In each of the following questions, you are given
a figure (X) followed by four alternative figures
(1), (2), (3) and (4) such that figure (X) is
embedded in one of them. Trace out the
alternative figure which contains fig. (X) as its

part
NN
N

9.

(X) (1 @ 3) 4
90.
5[‘ g0 "’JH:”- —
o = @ _|T_‘—_,__'—|
X) (1 2 o BERaR L 1
91. If the density of a metal is 8.2g/cc, its
relative density is
(1) 8.2 (2) 1/82
(3) 0.82 4 1
92.  The most characteristic property of liquids
is.
(1) Elasticity
(2) fluidity
(3) Formlessness.
(4) Volume Conservation
93. Ifearth suddenly shrinks by One third of its
present radius, the acceleration due to
gravity will be
(1) 3/2g (2) 4/9g
(3) 9/4g @) g3
94. If the momentum of a body increases by
10%, its K.E. increases by
(1) 20% (2) 40%
(3) 44% (4) 24%

(13)

88.
DSIO A YA IERY4E
0" ) [(RI&OICR
®) @ ® © O
(1) a @ b
(3) d )

fogewm (yas 899 89-90)

It &3 a3 yms <9, 398 fEx foza () fesr
famrr I fam 3 mie 979 feamiua wisgd (1), (2),
(3) 3 (4) fE3 3T 7% e’ fa Qo' % f¥a fem
939 (X) AH® otz fomrr 31 feawus fasg &
U3 wIrg fam &8 f939 (X) fere fIm == avs

JI
89. < A| < %
&\ J\
X n @ 6 @
90.
= = —
H 3R @)
X) (D ) (3) 4)
91. 79 fam oz € wE3T 8.2g/cc I 3T femet
AUTHE WEsT J:
(1) 82 (2) 1/8.2
(3) 082 4 1
92. 3IIBUTIE O AT 3 feRr feAE3T T
(1) FFABUS '
2) 3II&3I
(3) fegaa
(4) nrfEss gftmiE
93. AT UIST NEER »UE Hger W © &R
f3aet 3a Horg Hit I, 37 JISHIAE °
S YT J=aT |
(1) 3/2g (2) 4/9g
(3) 9/4g 4) g3
94, AT fIA AT T AT 10% T AeT I 3*
feret aifsw Garr g o 3<arm
(1) 20% (2) 40%
(3) 44% 4) 24%



95

96.

9l

98.

29,

100.

101

102

Apendulum clock becomes

(1) Slowerinwinter

(2) Faster in summer

(3) Slower in summer and faster in
winter

(4) can'tbedecided.

Suresh standing symmetrically between
two cliffs claps his hands and starts
hearing a series of echoes at intervals of |
second. If speed of sound in air is 340 m/s,
the distance between the parallel cliffs
must be

(1) 320m
(3) 680m

(2) 340m
(4) 760m

A plane Mirror is approaching you at
8cm/s. You are able to see your image init.
At what speed will your image approach
you?

(1) 4cm/s (2) 8cm/s

(3) l6cm/s (4) 24cm/s
The image on the retina remains for
(1) 20s (2) 10s

(3) 1/10s (4) 1/16s

An object looks red when seen through a
red glass. What is the actual colour of the
object?

(1) Redonly

(3) RedorGreen

(2) Blueonly
(4) Black

You are given three equal resistors. How
many resistances can be obtained by

joining them in series and parallel
grouping?

(1 2 2) 3

) 4 4) 6

Choose the wrong statement:

(1) Magnetic poles always exist in pairs.

(2) Magnetic poles are always of equal
strength.

(3) Like polesrepel each other.

(4) Unlike poles repel each other.

An atom bomb is based on the principle of
(1) Nuclear Fission

(2) Nuclear fusion

(3) Theliquid drop model

(4) None ofthese

(14)

95.

96.

97,

98.

99.

100.

101.

102.

fea UgoH wst

(1) Foemi e IS IA=T I

(2) TIHM fRg IF T AT T

(3) TIH fRT I& 3 Aee R 3
J AR T

)

CHS &J1 o137 AT AT |
€ g¢5t ¥ fegad Mt 39 3 v AOH
IFT TAE T I W3 | Afde © W3S 3
3w € fEa w3t meeT 31 Faw o= e
e S =St 340 m/s T AHGIST 9T

al

n el al

fegas gt gt ot 91
(1) 520m (2) 340m
(3) 680m (4) 760m

Fa FH3% TIUT Scm/s IS &% 3TS 33
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Aae 71 30T Y3ty fam a3t 5% 393
B NIm?

(1) 4cm/s (2) 8cm/s

(3) l6cm/s (4) 24cm/s
fear 83 fosg fodd v wet Ifder 3

(1) 20s (2) 10s

(3) 1/10s ) 1/16s

fEx =Ag % AR 79 Tue 3 &% feurst
&St T TRz TS SaT ot 7

(1) T=BFTH (2) oS JIHT

(3) “®HATIIT 4) T

308 3% 59799 9Ud fE3 ag 75| 89T §

sHeT »i3 ANGT3T AYTT 8 AF F T

YIS0 YUz |3 77 A 967

(1 2 ) 3

(3) + 4) 6

TSI IS T -

(1) Juat uge gHAT Afanrt &8 Hge 3T
T8 |

(2) J=al Uge IHET S99 IS © dv
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103.

104.

105.

106.

107.

Which of the following cannot be speed
time graph of a body in motion?

(1 L 2) L
o=t ot
3) L—’t “) Iz’t

The substance having pH more than 7 are:
(1) Common salt

(i) Washing soda

(111) Vinegar

(iv) Sodium Hydroxide

(1) 1,11 and 1v (2) iandiv

(3) i,iiiandiv (4) ivonly

Generally metals react with acids to give
salt and hydrogen gas. Which of the
following acids does not give hydrogen
gas on reacting with metals (Except Mn
and Mg)

(1) H,So,
(3) HNO,

(2) HCI1
(4) Allof these

The correct structural formula of butanoic
acid is

(1)

“4)

The greater number of water molecules
will bein

(1) 18gmofH20

(2) 18 molecules of water

(3) 18molesofH20

(4) 1.8 gramofwater

(15)

103.

104.

105.

106.

107.

fegst T faoz a=stits mdle
miAs-2EH (AST-AHT) are st J AgE™:

pH7 3 U fqa3 uT9E 7%
(i) AUIsBI

(i) TETH AT

(iii) fAgar

(iv) A3miH oE8ansts

(1) i,ii M3 iv () iim3iv
(3) iilin3iv 4) ivfrge

™ 39 3 T3t 0ifAE &% fafonr g9a B
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3 JETEIHs IF & féeT (Mn w2 Mg 3
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(1) H,So, (2) HCI

(3) HNO, (4) Allof these

gerafex nifHs e Adt 9e33t e oHs J |

Hp RO
-C=C-C-

(1) H- OH

“4)

UE € g 3 TU g JEaI-
(1) 18I@H U g
() 18nmEuetfeg
(3) 18¥Bustfeg

4) 1.83dHu e



108.

109.

110.

Fi.

Fogisacolloidal solution of . .

(1) Liquid particles dispersed in gas

(2) gaseous particles dispersed in a
liquid.

(3) Solid particles dispersed in a liquid.

(4) Solid particles dispersed in a gas.

Which pair represents isobars?

a o
(1) 17 17
40
@ % “ca
18 20
(3) 12C 14C
6 6
(4) Both(l)and (3)

Match the substance in Column [ with its

appropriate use in Column IT

Columnl ColumnlII

(P) CaOCl, (1) for softening
hard water

(2) in

manufacture

of soap

for

sterilisation

of drinking

water

in fire

extinguisher

(Q) NaHCO,

(R) Na:CO,10H,0 (3)

(S) NaOH (4)

(1) P-4,Q-1,R-3,8-2
(2) P-3,Q-4,R-1,S-2
(3) P-1,Q-2,R-3,S-4
(4) P-4,Q-3,R-1,S-2

Calcium oxide reacts vigorously with
water to produce slaked lime

CaO (s)+H:20 (/) >Ca(OH), (aq)

The reaction can be classified as

(a) Combination reaction

(b) Exothermic reaction..

(¢) Endothermic reaction

(d) Oxidationreaction

Which of the following is a correct option -
(1) (a)and (c) (2) (c)and (d)
(3) (a)(c)and(d) (4) (a)and(b)

(16)
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112

113.

114.

113,

116.

117,

Which among the following statement is

incorrect for Magnesium metal?

(1) It burns in oxygen with a dazzling
white flame.

(2) It reacts with cold water to form
Magnesium Oxide and evolves
hydrogen gas

(3) It reacts with hot water to form
Magnesium hydroxide and evolves
hydrogen gas

(4) It reacts with steam to form
Magnesium hydroxide and evolve
hydrogen gas.

‘Select a pair of homologous from the

following.

(I) CHandC,H,,

(2) CH,COOHand C,H,COOH
(3) C,H;andCH,

(4) (CH,),COand C,H,CHO

Match the compound in Column I with the
gas evolved on heating in Column II

Column-1 Column-II
(P) KCIO, 1. CO,
(Q) ZnCO, 2. NO,
(R) Pb(NO,), 3. O
(S) AgCl 4. Cl,
(1) P-3,Q-1,R-2,S-4

(2) P-4,Q-1,R-3,S-2

(3) P-3,Q-2,R-4,S-1

(4) P-3,Q-1,R-4,S-2

Which of the following does not affect rate
of evaporation .

(1) Wind Speed

(2) Surfacearea

(3) Temperature

(4) Insoluble heavy impurities

Benzene (C,H,) have

(1) 12 Covalent bands
(2) 15 Covalent bonds
(3) 18 Covalent bonds
(4) 9 Covalent bonds

Out of the following which enzyme is
active in acidic medium. '

(1) Pepsin (2) Trypsin

(3) Lipase (4) Amylase

(17)

112.

113.

114.

115.
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117.
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€)

(4)
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118.

119.

120.

121.

122.

123.

Common passage of urine and sperms in
maleis

(1) Seminal vesicle. (2) Ureter

(3) vasdeferens (4) Urethra

Which part of the eye has to work to change
the focal length of human eye to see fixed
objects to different distances?

(1) Pupil (2) Ciliary muscles
(3) Retina (4) Blindspot

The correct sequence of anaerobic reaction

in yeastis

(1) Glucose cytoplasm, Pyruvate

mitochondria Ethanol+ Carbon

Dioxide.

Glucose cytoplasm Pyruvate

cytoplasm lactic Acid

(3) Glucose cytoplasm Pyruvate
mitochondria lactic acid

(4) Glucose cytoplasm Pyruvate
cytoplasm Ethanol+ Carbon dioxide

o))

The water conducting tissue generally
present in gymnosperm is.

(1) Phloem fibres

(2) Sieve Tube

(3) Tracheids

(3) Companion Cells

Lipid molecules in the cell are synthesised
by

(1) Smooth Endoplasmic reticulum

(2) Rough Endoplasmic reticulum

(3) Golgiapparatus

(4) Plastids

In a plant red fruit (R) is dominant over
yellow fruit (r) and tallness (T) is dominant
over dwarfness (t). If a plant with RRTt. is
crossed with a plant with rrtt then.

(1) 75% willbe tall with red fruit

(2) 100% will be tall with red fruit.

(3) 25%, will be tall with red fruit.

(4) 50% will be tall with red fruit.

(18)
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124

125,

126.

127

128.

Figure below reflects blood circulatory
system in human body. Which of the path
contains oxygenated blood.

Human Body '

Lungs
- II = 11

(2) Hand Illonly
(4) LIandIII

(1) I and ITonly
(3) IandIIlonly

In a Synapse, Chemical signal is

transmitted from.

(1) Dendritic end of one neuron to axonal
end of another neuron.

(2) Axonto cell body of the same neuron.

(3) Cell body to axonal end of the same
neuron.

(4) Axonal end of one neuron to dendritic

end of another neuron.

Catlaandrohuare
(1) Marine fishes

(2) Amphibians

(3) Fresh water fishes
(4) Both(1)and(3)

According to theory of Evolution,

formation of new species is generally due

to

(1) Sudden Creation by nature

(2) Accumulation of variations over
several generations

(3) Clones formed during Asexual

reproduction

Movement of individuals from one
habitat to another '

(4)

Which among the following is not the
function of testes at puberty.

(i) Formation of germ cells

(i) Secretion of testosterone

(111) Development of placenta

(iv) Secretion of estrogen
(1) iandii (2)
(3) iiiandiv (4)

ii and iii
iandiv

(19)
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129. Which of the following structures within
chloroplast contains chlorophyll
(1) Stroma
(2) Thylakoid Membranes
(3) Outermembrane
(4) Innermembrane

130. Choose the incorrect statement from the

following.

(I) Ozone is a molecule formed of three
oxygen atoms.

A2) Ozone is deadly poisonous.

(3) Ozone protects surface of earth from
UV radiations.

(4) Ozone gets decomposed by UV
radiations.

131. The value of —2230_ g
cot 60°

(1) 0 2 1
(3) U6 @) 12

132. The points (other than origin) where
abscissa is equal to the ordinate will lie in
(1) OnlyIquadrant
(2) OnlyIlquadrant
(3) IandIIl quadrant
(4) 1&1IV quadrants

133. Let M be the mid point and L be the upper
class limit of a class, in a continuous
frequency distribution. The lower class

limit of the class is?
(1) 2M+L (2) 2M-L
(3) M+L (4) M-L

134. Two dice are tossed. What will be the
probability that the total score is a prime

number?
(1) 1/6 2y 5712
3) 172 4) 7/9

135. The number of multiples lying between n
and n* which are divisible by nis
(1) ntl 2) n
(3) n-1 (4) n-2

136. Find the area of triangle formed by y = x,
x=5,y=0.
(1) 12.5sq.units (2) 25sq.units
(3) 10.5sq. units (4) 20sq. units

(20)
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THIUTHS T nied Is fEdntt faadiort
gE39 fTg I@Ifes Jer J|

(1) A

(2) FEEaEs Ba

(3) Fradt ¥t

(4) niegst 55t

Jot 73 39" 7153 sus S 9= &9-

(1) S8 3 niaAHAs UIHEn & gfeonr
MET|

(2) e wsaAfod® I

(3) Svs uast & AzT g UV fags
e JI

4) S5 UV fagst enimar nufes I

AerJ |
tan 30° v
cot 68" ET)-;E%
(1) 0 2) 1
3) /e 4 12
89 fog (ym g 3 fewen) fMa oA, afe @
FIeg 9, fow d=ar|
(1) JI=®15g=t
(2) =& ITEEt
(3) In3UISEEt
4) Im31IvaEe
g9 93T 3 AIS €9, M S99 ni3d® €
TJ9 98 W3 L 2991 wi3I™s of QUash AiHT
T | TTANIZTS T JoF HHT & 9
(1) 2M+L (2) 2M-L
(3) M+L 4) M-L

TUTH He AT I | for 9% o faat Hgerar
29 % Aa9 & nigrg Aftmr 32

(1) 1/6 2) 5/12

3) 12 @ 7/9

nn3 n? ¥ fegag gEat & fasst, 7 n
T II AT TS|

(1) n+l (2) n

(3) n-l (4) n-2

y = %, Xx=5, y=0 ©n9" g3¢ JF f3az @
YIISBUIT AT |

(1) 12.5sq.units (2) 25sq. units
(3) 10.5sq. units (4) 20sq.units
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144,
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146.

ABCD 1s a rhombus such that ZADB
=50°, then zZABD=...

(1) 40° (2) 45°

(3) 50° (4) 60°

Number of terms in p(x)=(x-1)(x-3) (x-
5)(x-7)....(x-111) 1s

(1) 50 ' (2) 56

(3) 57 (4) 55

Find the missing value

164+9°  _

16492 %

(1) 25 2) 7

(3) 210 (4) 144

The quadratic equation 2x2-\5x+1=0 has
(1) Twodistinctreal roots

(2) Twoequalreal roots

(3) Norealroots

(4) More than tworoots

Mean of the numbers 1°,2°,3°, 4°, 5°,6'is
(1) 73% (2) 744

3) 73 4) 47%

If AABC =AFDE and AB=5cm, £B =40,
ZA = 80" Then which of the following is
true
(1)
2)

DE=5cm,/F=60
DE =5cm, /D =40’
(3) DF=5cm, Z/F=60'
(4) DF=5cm, ZE=60"
ITI—;
(1 2"
3 2

(2) 21!’6
@ 2°

The sum of digits of two digit number is 9,
if 27 is added to it, it's digits get reversed,
the number is
(1) 63
(3) 81

@) 72
4) 36

The pair of equations y=0and y =5 has
(1) Onesolution

(2) Two solution

(3) Nosolution

(4) Infinite solution

The sum of all two digit odd numbers is
(1) 2575 (2) 2755
(3) 7525 (4) 2475

(21)
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ABCD f&& mHu393H & fam €9 2ADB
=50°,3" ZABD=...

(1) 40° (2) 45°

(3) 50° (4) 60°
p(x)=(x-1)(x-3) (x-5)(x-7).... (x-111)
@uaagméawe?ﬁré’r%ﬁ%?
(1) 50 ) 56

(3) 57 4) 55
IS HB U™ &9 |

1649°  _

165192-? e

(1) 25 2 7

(3) 210 (4) 144

Surst AHEEs 2x2-V5x+1=0 T HB TS |
(1) 2 TA3fea S

(2) ©=9EI THSBIHSG

(3) cErTAIfRI UB &t

(4) TITUHBTS

1°2°.3° 4, 5°, 6 Aftmret & Hftns 37
(1) 73% (2) 74%

(3) 73 4) 47%

7 AABC =AFDE I »i3 AB=5cm, Z/B=40’,
ZA=80" fag feust f&5° fagz™ AT I

(1) DE=5cm,ZF=60"

(2) DE=5cm, ZD=4("

(3) DF=5cm, ZF=60"

(4) DF=5cm, ZE=60’

rr_i

(1) 2-]!‘6 (2) 2“6

3) 2° 4) 2°

g vigt S At Enixt e A3 9 3, A fER
ﬁ?Z?ﬂfS}WW%?i‘aﬁ%mﬁ@ma
e I8 ITRET I |

(1) 63 @ 72

(3) 81 4) 36
mﬂaﬂ'ﬁ'y 0m§y SET%T—

(1) feads

2 T

(3) ae”razvsm?r

4) rAITS

A3 € nidt gt 2 Aftret er Az 3|
(1) 2575 (2) 2755

(3) 7525 (4) 2475
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The angle between radii of a circle is 100°,
the angle between the tangents, at the end
ofthese two radii is

(1) 40 (2) 45°

(3) 50° 4) 80°

A circle can have  parallel
tangents at most.

1 1 ) 2

(3) Infinite 4 3

8].0‘]6 % 810.U9=

(1 9 2) 3

(3) 81 (4) 81.25

The length of the tangent from a point 'A’
to the circle, of radius 3 cm is 4 cm. The
distance of 'A' from the centre of the circle
is

(1) V7em
(3) 5cm

(2) 7cm
4) V5cm

The Suez Canal was opened
(1) In1869AD (2) In1852AD
(3) In1937AD (49) In1879AD

The old name of Punjab was
(1) SaptSindhu

(2) Panchanand

(3) Pentapotamia

(4) Alloftheabove

The red Laterite soil of Tamil Nadu and
Kerela is good for which crops.

(1) Wheat (2) Cotton

(3) Coffee (4) Apple

Which type of Disaster occurs mostly in
Punjab.

(1) Drought
(3) Earthquake

(2) Cyclone
(4) Floods

Lonar lake is located in which State?
(1) Punjab

(2) Maharashtra

(3) Uttar Pardesh

(4) Madhya Pardesh

Which percentage of Biological Diversity
of the world has found in India.

(1) 8% (2) 10%

3) 5% 4) 2%

(22)

147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

ffa 739 © »Ju fenrmAt € fegag = a=
100° I, feost g2t wigg foumt T wiz

fagn 3 gehort FuTE Ju<t € fegag a=
ik '

(1) 40° 2) 45

(3) 30 4) 80°

AUTF JY=T J AGEmT 35 |

(1) 1 2) 2

(3) A 4) 3

810.lr )(810.09=

(1) 9 2) 3

(3) 381 (4) 81.25

gad fig 'A' 3 AugH Jur &t SurEt 4
AdhieT 31939 ¥ dEd 3 A & Tt o
7

(1) V7em (2) 7cm

(3) 5cm (4) V5cm
AEH sfag 9&t /2

(1) 1869%t: &g (2) 1852%t: g
(3) 1937 feg (4) 1879%t: feg
UAg TTygET st A

(1) AusfAg

(2) Jgee

(3) Terenimit

(4) SUIII AT

3fHEaTs w3 39s o ®% deaeie fifdt
fq0s ene ®et 9att 37

(1) = (2) JUT

(3) =t (4) AH

et I7
(1) Aar (2) YIS
3) IH 4) I3

Bor9 91w faa3 g g Afes 99
(1) dv=

(2) HJI'THET

(3) 3IT9YeR

(4) Huyew

393 &g Armg o &3 yItas Afex
fefersr fimet 39
1) 8%
3) %

2) 10%
@) 2%
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(1) In1947A.D

In which state tanks were built to collect
roofrain water.

(1) Gujarat (2) Rajasthan

(3) AndhraPradesh (4) WestBengal

Which kind of crops are tea, coffee, and
Tobacco

(1) Cash Crops

(2) Beverage Crops

(3) Food Crops

(4) Both(1)and(2)

What s Jajiya ?
(1) Religion
(3) Custom

(2) Religioustax
(4) Ornament

When was Punjab divided into the two
parts on the basis of language.

(2) In1966A.D
(3) In1950A.D (4) In1971A.D

What was the name of the younger son of
Daulat khan Lodhi?

(1) Dilavar Khan Lodhi

(2) Tbrahim Lodhi

" (3) Tatarkhan Lodhi

(4) Babur

Where did Guru Nanak Dev ji meet Sajjan
thug (the robber)
(1) InPatna

(3) InTalumba

(2) InSialkot
(4) InKartarpur

Which Guru is popularly known as Bal
Guru?

(1) GuruTegBahadurji

(2) GuruHarkrishan ji

(3) GuruGobind Singh ji

(4) GuruAmardaas ji

Who composed the poem called "Anand"?
(1) GuruNanak Dev ji

(2) GuruRamdassji

(3) GuruAmardas ji

(4) GuruAngad Devji

Who was the leader of pathan army of
Sadhaura? _

(1) PirBudhu Shah

(2) Pir Muhammad

(3) Pandit Harjas

(4) Aurangzeb

(23)
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I gEE He ALY

(1) TAI= (2) THRES
(3) niugTyem (4) USH Fars
T, AT (&) ni3 IH fd fadhort erest
J67

(1) =<t SAs

(2) UnfyTTI" SHS

(3) Y9t eAS

@ (M3

T a2 \

(1) T3H (2) TItHI a9
(3) = (4) arfazr

UAe g 3THT € »iarg 3 € It &g ae
<30 fapr?

(1) 19478 @8 (2) 1966t &g
(3) 1950 fRg  (4) 1971 9

B3 4T BUT T 22 UST T A & A
(1) few=gyt Bt

(2) feggrdtw st

(3) I3yt HUt

(4) g=g

HHE 391 5% 3 676K ©< At B Hoars foa
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(1) ues feg
3) 3BT s

(2) fmreae i
4) FFz9yd feg

503 I3 8 313 2 & & Yty 757
(1) g 3T FTEI
(2) Y IfSfgms 7
(3) g aifde w7t
(4) T mHIEH H

Mae &t St oEt ©f I9aT fams =t /Y
(1) JIgasx et
(2) FIIHEAH
(3) FInHIEH AL
(4) TG nidre e H

AR9T © Us™s Ao €7 33T JE A7
(1) dWegura

(2) WgHIgHE

(3) Ufs3g9nA

(4) wITwE
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Which area was under the sardars of
Bhangi Misl. :

(1) Hoshiarpur and Noormahal

(2) Barrala & Kapurthala

(3) Gujratand Sialkot

(4) Nawanshahrand Banga

Who is the protector of the Fundamental
Rights In India

(1) President

(2) Supreme court

(3) Speaker

(3) Prime Minister

What is the term of the office of Rajya
Sabha members
(1) 3years
(3) Syears

(2) 4years
(4) 6years

Who has the legislative power of the state
during President's rule in the stated?

(1) Legislature (2) Parliament
(3) PrimeMinister (4) RajyaSabha

Which of the following states have a
bicameral legislature ?

(1) Punjab

(2) Jammu and Kashmir

(3) karnataka

(4) Himachal Pradesh

What is the upper house of the Indian
Parliament called?

(1) RajyaSabha

(2) LokSabha

(3) Legislative assembly

(4) Legislative Council

Which of the following is a hindrance in
the formation of Lokmat ?

(1) Tlliteracy

(2) Newspaper

(3) Secular State

(4) Honestpoliticians

Which of the following is not a permanent
member of the united Nation Security
Council?
(1) Russia
(3) India

(2) China
(4) America

(24)
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Which country is a nuclear power.
(1) India

(2) China

(3) America

(4) Alloftheabove

What is the working age limit of
populationin India ? .

(1) upto15to64years

(2) upto 18to58years

(3) upto16to60 years

(4) upto17to59years

Which state is the poorest in India?
(1) Odhisha (2) Bihar
(3) Punjab (4) WestBengal

Which government organisation sells milk
and Milk productsin Gujarat ?

(1) Amul (2) Verka

(3) MotherDiary  (4) Vita

Which of the following is an example of
asecondary sector.

(1) Agriculture (2) Manufacture
(3) Communication (4) Banking

From which language is the word
Economics derived ?
(1) The Greek

(3) Sanskrit

(2) Europeon
(4) Urdu
Fiscal policy is concerned with and
_ofthe Govt.

(1) Incomeand expenditure

(2) Incomeand Saving

(3) Incomeand Budget

(4) Income and currency

(25)
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2) ©=
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